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WUms: Jata: ___ Ouenka:___
8,07 x 60% = 1,57 x 80% =
3,32 x10% = 9,69 x 40% =
6, 08 x 70% = 4,47 x 30% =
7,15 % 50% = 1,24 x 10% =
4,62 x20% = 9,43 x 20% =
2,35 x40% = 9,05 x 40% =
0,46 x 60% = 9,57 x90% =
8,28 x 30% = 0,61 x 20% =
1,7 %x30% = 5,04 x 10% =
4,38 x 50% = 4,24 x 10% =
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Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms:

8,07 x 60% = 4.842

3,32 x10% = 0.332

6, 08 x 70% = 4.256

7,15 x50% = 3.575

4,62 x20% = 0.924

2,35 x40% = 0.94

0,46 x 60% = 0.276

8,28 x 30% = 2.484

1,7x30% =0.51

4,38 x 50% = 2.19

[ara:

1,57 x 80% = 1.256

9,69 x 40% = 3.876

4,47 x 30% = 1.341

1,24 x10% = 0.124

9,43 x20% = 1.886

9,05 x40% = 3.62

9,57 x90% = 8.613

0,61 x20% = 0.122

5,04 x 10% = 0.504

4,24 x 10% = 0.424
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Oruenka:
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